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Note : (i) All questions are compulsory.
(i1} All questions carry equal weightage.

Answer the following questions in about

600 words.

1.  Explain briefly the various models of vocational
education. Also, discuss their merits and
demerits.

OR

Explain the life long entrepreneurship education
model. How it can develop entrepreneurship
among the learners ?

Answer the following in about 600 words.

2.  Discuss the provisions in National Curriculum
Framework (NCF, 2005) regarding vocational
education.

OR

Discuss how the vocational education can be
universalized ?
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3.  Answer any four of the following in 150 words

each.

(a)

(b)

©

(d)

©

()

Explain the nature of support needed for
teacher preparation for vocational
education programme.

Explain, how vertical mobility of the
vocational students can be ensured ?

Discuss the need to adopt the partnership
model in vocational education and training
(VET).

Discuss how choosing appropriate
objectives can improve public training ?

Explain how students evaluation can be
done in vocational education programme ?

Discuss the role of NGO’s in imparting
quality vocational education.

4. Answer the following question in about
600 words.

Explain which school industry model would you
adopt to offer vocational education and training
(VET) in your school ? Justify your answer.
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